MHRLEERME
—EE=FHA=TH

—EE=F —TTE-F
hB=+H =H=4—0
Bt it FHET FEIL
(REER) (L& F%)

ERBEE
Y - BERZE 8 515,603 359,958
&EY 9 11,650 11,650
EES 1,614 1,936
528,867 373,544

REBEE
FE 303,659 266,756
FEUE SR K 10 346,445 256,556
Be -~ BNHRIEREAERGIE 75,735 31,495
RITEHBRERS 214,080 115,156
939,919 669,963
REBEE

BB SRR 11 171,509 143,156
H &~ 5k I8 40,898 62,221
BN TLERE KL - 2,880
e R B 15 15
FE B 18,605 14,975
—FNE B BB T A A 5,705 8,645
—FRE B ZRITER 12 279,537 181,191
516,269 413,083
REBEEZRE 423,650 256,880
952,517 630,424

BAER#HE
[ 5,003 4,740
] 645,441 565,392
650,444 570,132
LEREER 25,409 15,461

FERBEE
—F 1R 5B 2 BB T A A 10,675 14,504
—FRB B ZIRITER 12 265,989 30,327
276,664 44,831
952,517 630,424

03

hHRE
03/04



